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PHYSICS (SECTION-A)

A point charge causes an electric flux of
-1.0 x 10° Nm?/C to pass through a spherical
Guassian surface of 10.0 cm radius centred on the
charge. If the radius of the Guassian surface were
doubled, how much flux would pass through the
surface?

(1) =1x10° Nm?%/C

(2) -2 x10° Nm?/C

(3) -0.5 x 10> Nm?/C

(4) -0.25 x 10> Nm?%/C

A charged particle q is shot towards another
charged particle Q which is fixed, with a speed v.
It approaches Q upto a closest distance rand then

1.

Qe 3T & RN 3R 10.0 cm o1 & MeSRgT 7o
 TOIRA ATl Heldd @l A1 -1.0 x 10° Nm?/C 2 | a3
MR Feis Bl 3og1 Bl g1 3R fQan R 9

EXSEY CORIRTSER NS

(1) -1x 10> Nm?%/C

(2) -2 x10° Nm?/C

(3) -0.5 x 10° Nm?/C

(4) -0.25 x10° Nm?/C

Qe SITATRIT BT q DI 31 ARG o1 Q Sl foh ReR
2, D3R v AT A THT 1A & | TE Q & Miabean r
X1 T ST dle ST @ | Ufe q I 2v | &I SR &l

returns. If g were given a speed 2v, the closest Uge Bl (head gl 8l :
distances of approach would be :
B - @Q q @ -meeeeee - @Q
e— r —> b— r —>4
M r (2) 2r (M) r (2) 2r
(3) r/2 (4)r/4 (3)r/2 (4)r/4
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Two solid spherical conductors of radii R, and R,
are seperated by a distance much larger than the
radius of either sphere. The spheres are connected
by a conducting wire as shown in figure. If the
charges on the spheres in equilibrium are g, and

q, respectively. What is the ratio of field strength

E
E_1 at the surfaces of the spheres.
2
d. T
R, RS
0 R, @ g2
R, R?
) R Cley

A point charge of 0.009 uC is placed at origin.
Calculate intensity of electric field due to this

point charge at point (v2,/7,0)-
(M) (27 +7)NC

(2) (3v2i —3v7jNC

(3) (320 +3v7jNC

4) (342] +3v7IINC T
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&1 3I] el ATeleh] ! [SATY R, TFAT R, Bl Teb RN
@1 351 @1 Gl 7 S1efereh X1 IR e & | AR
el 1 @Tele TR A SiTsd & | fe Aregraxed 3 i
TR AL @, AT q, B | Tl & Y UR I &7 Bl

E
el @1 sruTd E—1 ST RI—
2

a -
R R2
M & @ o2
1
R, R
G) R, (4) R
T& 0.009 pC =g e &t ga1 fog W@ T g |
9D BRI A (y/2,4/7,0) TR I &3 1 et a1
A 1A DT |

() (V2i +V7iNCT

() (3v2i —3J7)NC
3) (3v2i +3V7jNC
@) (3v2] +3J7INC

Y% 13 @ [y 5171 / Space for Rough Work
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5.

An electron beam passes through a magnetic field
of 2 x 107°Wb/m? and an electric field of
3.2 x 10* V/m both acting simultaneously

(E 1Bl ff). If the path of electrons remaims

undeflected. Calculate the speed of electrons.

(1) 8x10°m/s (2) 4 x10°m/s

3) 16x10°m/s  (4)2x10°m/s

Select wrong option -

(1) Equipotential surface can never cross each
other

(2) Electric line of force form a closed loop for
non conservative g

(3) Ametallic surface of conical charge body is an
equipotential surface

(4) Equipotential surface are always parallel to the

E
In following figure if medium €, = 3 is filled

between plates of capacitor then find out extra
flow of charge from battery :

5Volt —— —r
+
(110 uC (2) 20 uC
(3) 40 uC (4) 60 uC

CLASS-XII

TP gAagd G, TP 2l oﬂrﬁfﬁfa ffafﬁm &l3l
2x10Whb/m? e faegd &3 3.2 x 10° V/m & oiRal
2 (ELBLV)R | af sorast o1 uer sifdafera wear
2, Tl Sodei B =Tel SITd BN |

(1) 8x10°m/s (2) 4 x10°m/s

(3) 16x10°m/s  (4)2x10°m/s

Teld faded &1 g+ Biforg—

(1) 9 fa9d U8 Ud SOR BT B! TE BIC Ao &

(2) el fagge &=t £ & faega Y@ 9w oy I
g

(3) U® ARG uifcad vidardR Uvs & Jag ad
fava g gl 2

(4) 9¥ fawa Us BHY S FHMRR 814 ©

o1 o 9 <ol JenRa @) wiel @ #e IRTaEdis

€, = 3 &1 A WR § Al 9 1 gard g arel

SINIRESEICKIEINIEE

5Volt —— —
+
(1) 10 uC (2) 20 uC
(3) 40 uC (4) 60 uC

Y% @14 @ fory ST/ Space for Rough Work
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8. The capacity of the system between the points P | 8. {era uRu2r § P g Q fa=gaii & #7eay e &1 anikan

and Q in the adjoining circuit will be - BN -
F 3 N
vd oP v oP
- ‘Fd —‘Q ) ‘Fd .Q
h
Fd Vd
3. A 2¢, A 3¢ A 2¢, A
1 0 5} 0 1 0 2 0
2d @) d (0 2d @ d
€, A 2¢€, A €, A
4) 92— 3 0 4) 22—
@ —4 &) 4 4 =4
9.  In following figure current in fifth conductor will | 9. &3 73 for=r # dfad ard® | 984 arell g1 817 -
be:
V4A 4A
5A 3A 5A 3A
X X
V7A V7A
(1) 3A away from x (1) 3 TR x | g3
(2) 1A away from x (2)1TFRR x A R
(3) 2A away from x ()2 TPRR x A
(4) 1A towards x (4) 1 TR x B TG

Y% B & [Ty OTTE / Space for Rough Work
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10.  In the shown arrangement of experiment of the [ 10.  #IeX ¥q YA & ‘;I—c(f?fﬁ giRger § 3]31 ﬁ%ﬂ ?f‘:‘ AId

meter bridge if value of AC is x the distance 0 AC BT AM X © | IS AR AB I 3151 &l 1 9%

corresponding to null deflection of galvanometer, e S, a1 g favenmust g9 &1 91 @ 8em ?

what would be its value if the radius of the wire

AB is doubled ?

1| E 11| E
1] 1]
R, R, R, R,
' B B
A€ A€
X X

1) X 2) — 1) X 2) —

(1) 27 (1 (2 7

(3) 4x (4) 2x (3) 4x (4) 2x
7. Whatis the total resistance across Aand Binthe | 1. &3 T uRuer § A @211 B @ 919 G gl =1

circuit figure - BRI —

C C
R/2 R R/2 R
A R B A R B
(1M 2R (2) 9R/19 (1) 2R (2) 9R/19
(3)R/2 (4)R/3 B)R/2 (4)R/3

Y% B @ [ory o178/ Space for Rough Work
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12 An electric lamp is marked 60 W, 220 V. The cost | 12. & faega ou RS u= 60 W, 220 V 3ifdd 2 | faega @
of kilo watt hour of electricity is Rs. 1.25. The cost gfdl fohetl dfc €T 41252 | ST ™ 61220 V IR 8
of using this lamp on 220 V for 8 hours is - S BT H o IR 013 & BT —
(1) Rs 0.25 (2) Rs 0.60 (1) Rs 0.25 (2) Rs 0.60
(3)Rs1.20 (4)Rs 4.00 (3) Rs1.20 (4)Rs 4.00
13.  In the following figure, the reading of an ideal | 13. 23 T URu2l # 377l ArecHICT 1 UIGHTH TRI B, Al
voltmeter V is zero. Then, the relation between R, r,qeflr, o ] B
R, randr,is:
ICT I
\J, \J,
[ B | B | B [ B
1 h & & 1 h
I ) T Iy
(M R=r,-1 QR=r-r, (1 R=r,-r1 QR=r-r,
r1r2 r’lr2
(B) R=r+r, (4)R= s (3) R=r+r, (4)R=—r1+r2
14.  The circuit shown in the figure represents a | 14. &3 g uRue fora # e A wferd grm, afe R

balanced Wheatstone's bridge. The value of Riis :

(1) 25 Q
(3) 45Q

2) 4Q
(4)5Q

HIAFE :

1)25Q
(3)45Q

(2) 4 Q
(4)5Q

Y% B @ [o77 O/ Space for Rough Work
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15.  In following circuit at which resistance produced | 15.
heat will be maximum :
o
20 YYVYY
i"“""“
30
+| =
'8 Volt
(1) 2Q (2) 30
(3) 6Q2 (4) None
16. A uniform straight infinite conductor of radius R | 16.

CODE : 2512

is carrying a steady current | such that current is
uniformly distributed over its cross section. Which
of the following graphs represents the correct
variation of magnetic field B with perpendicular
distance r from the axis of conductor?

+JL *“
B B

CLC
tecnd=

‘ Tatert Bxplering ELE Mosicnal Blympiod-2025

gl —

20 VVVVY

(1) 2Q 2) 30

(3) 6Q (4) BTE TEI

R 3o & Ueh YA 31w W18 & AXel W&
e oras! B3ram R © a2 S9H ReR ORT | S9a
3TIYRT BT & | YadT wu o faaRa g | = &
q DI U DI &3 B H yRad &l arddd &
3187 & I r g3 B A1 STl B |

44 ry
B p

U k (2)

44 44
B B
) \_©@
o R = YO R m

Y% @14 @ fory ST/ Space for Rough Work
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17.  Anelectron having kinetic energy Kis movingina |17 K TSt S5fl dTall Ueh Selds 4 UehdH DRI &3
circular orbit of radius R perpendicular to a uniform B @ oad R 3o &1 geirg @en # wfeiiat & | af}
magnetic field B. If kinetic energy is doubled and TS St DI T A FHEDBIRI &5 Bl oA fovan
magnetic field tripled, the radius will become - STTaT &, 99 3o gl
3R 3 3R 3
(1)7 2) \ER (1)7 ) \ER
2 4 2 4
3) \ER (4) \ER (3) §R (4) \ER
18.  Theareas of cross-section of three magnets of same | 18. <1< W TSl & FrIah] h1 IITULRI BIC HHIL: A,
lengths area A, 2A and 6A, respectively. The ratio 2A TAT 6A B | A Frafhd JELVIT BT Tt BT —
of their magnetic moments will be :
M6:2:1 (21:2:6 Mme:2:1 (2)1:2:6
(3)2:6:1 4)1:1:1 (3)2:6:1 4)1:1:1
19. A rectangular loop carrying a current i is situated | 19. Q& SIRTATE! ATIATHR U FSTHH G1RT i €, Th &9 1Y

near a long straight wire such that the wire is
parallel to one of the sides of the loop and is in
the plane of the loop. If a steady current | is
established in wire as shown in figure, the loop
will -

-—

1) Rotate about an axis parallel to the wire
2) Move away from the wire towards right
3) Move towards the wire

4) Remain stationary

— p— p— p—

AR & UTH $H YR TSI & b TR, U & b ol
@ AR QAT AR U & dat 7 & | I aR & Rer g
i TN 81 SRl 8 9 ou—

[ —

(1) AR @& FHIR 31& & A& g
(2) AR ¥ g SR i 3R

(3) AR B MR SRR

(4) Rer &M

Y% 13 @ [y 5171 / Space for Rough Work
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20.

21,

Two identical coils carrying equal current have a
common centre and their planes are at right angles
to each other. Find the ratio of the magnitudes of
the resultant magnetic field at the centre and the
field due to one coil alone :
M 2:1 21:1

3)1: JE 4 \/5 01

A wire loop formed by joining two semicircular
wires of radii R, & R, carries a current as shown in
the diagram. The magnetic induction at the centre
O is:

Kolm Kolm
4nR, ) 4nR,

i) oulod
®) 27 \R, R, ] ¥ an (R, R,
For a concave mirror of focal length 20 cm, if the
object is at a distance of 30 cm from the pole,
then the nature of the image and magnification
will be:

(1) realand -2
(3) realand +2

(1)

(2) virtual and -2
(4) virtual and +2

CLASS-XII

20. G GHM gRTETE! cbusmulfﬁcnrqa‘wﬁ%%le—rﬁ
A gRT aTed 81 TE1 © 0 I8 ddl Tb GaR &
I ¢ Al D Be WR Bl GBI &3 B, T
RIS B BRY Da UR FrEDII &3 B ATl T
SR

M 2:1 (2)1:1
B)1: 2 (4) \/E 1
2. AR R, 1R, FBoU1 & &1 STE R dR| DI AT
A GITSHR Ueh U IR AT 8 | §9 s O W DI
UROT BT
Wl ol
M 4::R @) 4::R
(1 1) (1 1
S [R RJ (4) “an [R1 +RJ
22 20 cm BIhd TS B Jadd guor & forg afe ves fawe

1 Ed | 30 cm BT G IR @ SR dT g9+ dTed ufifa
& gBfar ot sraeH 8 —

(1) arafaed dem -2 (2) MHAT de1 -2
(3) T qAT +2  (4) ST T2T +2

Y% B @ 119 S8 / Space for Rough Work
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The attached figure shows the graph of angle of
deviation § versus angle of incidence i for a light

ray striking a prism. The prism angle is

5
105 1 S— :

15°  60° "\
(1) 30° (2) 45°
(3) 60° (a) 75°

There is a prism with refractive index equal to \5
and the prism angle equal to 30°. One of the
refracting surfaces of the prismis polished. A beam
of monochromatic light will retrace its path if its
angle of incidence over the refracting surface of

prismis :
m o° (2) 30°
(3) 45° (4) 60°

A thin lens of refractive index 1.5 has a focal length
of 15cm in air. When the lens is placed in a medium
of refractive index 4/3, its focal length will become
(1) 30cm (2) 45cm
(3) 60cm (4) 75c¢m

CLASS-XII

23.

24,

25.

CODE : 2512
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a1 fopddt foeor &1 fiswoR siafad 219 o) fagrer= sy
& TIT 3Uferd IV i & Heg g 9 11 2 | fOrew
IV FT 82

30°

60°

15°
(1) 30° (2) 45°
(3) 60° (4) 75°

U USH @1 Suacid [, 2 ISH HIvT30° |

fOISH o1 Qb STacis AeTe Bl Uiferel fovan T 2 | gahavi
THTe Yol U 3TUdcia A UR fdha= HIo7 U armafard

21 o 218 3797 Uer &1 g: SR N —
(1) 0° (2) 30°
(3) 45° (4) 60°

T%H o @) BIdd 81 15cm & RTIaT p =15 g,
IY WA HEgH § @A R TP p =4/3 8, § IFD!

Bl g1 1 8l SR
(1) 30cm (2) 45cm
(3) 60cm (4) 75¢m

Y% B @ [o77 O/ Space for Rough Work

10 "HHEASAT™ Pt. Harinath Chaturvedi Marg, Piprali Road, Sikar (Rajasthan) Ph: 01572-255500



CODE : 2512

17 November, 2024

26.

27.

28.

29.

CLASS-XII

CLC
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CHEMISTRY (SECTION-B)

The concentration term independent of
temperature is :

(1) Mole fraction

(2) Normality

(3) Molarity

(4) Weight/volume percent

3 moles of A and 2 moles of B are mixed to form
ideal solution, then vapour pressure of the solution

will be : (Py =300 mm Hg, P =120 mm Hg)

(1) 420 mm Hg (2) 192 mm Hg

(3) 228 mm Hg (4) 210 mm Hg

A solution containing 36g per dm?® of glucose is
isotonic with 5%(w/v) solution of a non volatile
solute. The molecular mass of non-volatile solute
is:

(1) 180 g mol™ (2) 50 g mol™

(3) 500 g mol™ (4) 250 g mol™

How many faradays are required to reduce 1 mol
of BrO,” to Br' ?

m3 (2) 5

(3)6 4) 4

26.

27.

28.

29.

dIHE | WdH Aredl Ug &

(1) et B

(2) e

(3) ARt

(4) SR/ Ufaerd

3 Al A dT 2 At B & A3 ova R 9+ aneyf
faerae &1 a9 g9 B

( Py =300 mmHg, Py =120 mm Hg)

(1) 420 mm Hg (2) 192 mm Hg
(3) 228 mm Hg (4) 210 mm Hg
ve faerae fRora 369 Uil dm? 7@ e srarweiie
e & 5%(w/v) faerae &1 THIRRRI § | srarsyeie

ferd &1 Mg g &

(1) 180 g mol™ (2) 50 g mol™

(3) 500 g mol™ (4) 250 g mol™

1mol BrO,” @1 Br™ ¥ a1oafiid ox= o forg fare= hers
DI TITIHT BTl & —

(M3 (2)5

()6 (4) 4

Y% B & 177 OTTE / Space for Rough Work
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30. Determine the electrode potential for 30. Determine the electrode potential for
Pt,H,(9) H'(aq) Pt,H,(9)  H'(aq)
py =Tatm H" =0IM py =Tatm H" =0IM
(1) 0 (2) 0.0592 V Mo (2) 0.0592 V
(3) -0.0592 V (4) 01184 V (3) -0.0592 VV (4) 01184 V
31  Efficiency of a cell with cell reaction under | 31. & IAfHAT & A1 AFH RART TR U Tt DI geral
standard conditions, ,
A TBT——A" +B,; AH°=-300k/ A +B"——A" +B;  AH°=-300kJ
is 70%. The standard electrode potential of cell is 70% & A1 Vel BT A Soidels favd 2 :
(1) 2176 V (2) +2.876 VV (1) 2176 V (2) +2.876 VV
(3)1248 V (4) +1.648 V (3)1.248 V (4) +1.648 V
32.  The conductivity of a N/10 KCI at 25°C is |32 25°C 4R N/10 KC| faeras @ aretaar 0.0112 S cm™
0.0112 S cm™. The resistance of a cell containing T | 9 AU 0R Ud A ol o Ao t@an g @1
the solution at the same temperature was found gfaRIe 55 3NF I SfTdT & o dal Rerid 8 -
to be 55 ohm. The cell constant will be :
(1) 616 cm™ (2) 0.616 cm™ (1) 616 cm™ (2) 0.616 cm™
(3) 0.0616 cm™ (4) 616 cm™ (3) 0.0616 cm™ (4) 616 cm™
33.  Forthe reaction 33. 3t
A(s) + 2B*(aq) ——> A (aq)) + 2B(s), the A(s) + 2B*(agq) —— A*? (aq.) + 2B(s),
Kc has been found to be 10™The g% of the & forg K 1A 107 © | Sifdifehan & forg g2 o1 AT
reaction is - T —
(1) 0354 V (2) 0.708 V (1) 0354 V (2) 0.708 V
(3) 0.0048 V (4)136 V (3) 0.0048 V (4)136 V

Y% B @ [o77 O/ Space for Rough Work
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34.  Which of the following are true regarding role of

35,

36.

a catalyst

(@) The catalyst can initiate the reaction.

(b) The catalyst lowers the activation energies of
both forward and backward reaction.

(c) The catalyst lowers the enthalpy of reaction.

(d) The catalyst changes the path of a chemical

reaction
(Ma,b (2) b, d
3)cd (4)a,d

Rate of formation of SO, in the following reaction
250, + O, — 2SO, is 100 g/min. Hence, rate of
disappearance of O, is:

(1) 509/min (2) 100 g/min

(3) 200g/min (4) 20 g/min

For a first order reaction: A > B+ C

Initial pressure is 200 mm and after 20 min total
pressure is 250 mm, then calculate rate constant
(1) 144 x107* min™

(2) 1.8 x 1072 min™

(3) 3.7 x10* min™

(4)1.44 x 107 min™’

CLASS-XII

34.

35,

36.

CLC
Jtecnds

sk cb‘lﬂﬁQ‘cﬁ\jcwqa&‘?lﬂﬁiﬁliﬁﬂa‘ﬁﬁﬂ%ﬁ%

(a) SIRD Y IMATHAT BT YRS B AT ¢ |

(b) SR 31T AT U G117 rfAfhmat a1 Afosror
Foll BT HH HRATE |

(c) SRS fAforar &1 Tt ®l HH FRA1 ¢ |

(d) SSRB Y IS fAfshar @ uer ot uRafdd
PRATL |

(1) a b ) b, d

G)c d (4) a, d

aifafhar 250, + 0, — 250, H SO, & Ha &l &v

100 g/min € | 31d: O, & fagw I @l &% el —

(1) 50 g/min (2) 100 g/min
(3) 200g/min (4) 20 g/min
T Y Bifc &I sIAfhar A 5> B+ C

@ fordl YR &9 200 mm 3iR 20 min & U¥aTd Fol
g9 250 mm &, T4 & e &1 9 Sd S —
(1) 1.44x107% min™

(2)1.8 X107 min™

(3) 3.7 x10™* min™

(4) 144 x10™* min™

Y% B @ 119 S8 / Space for Rough Work
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39.

40,
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For the reaction 2A___, P, the rate law
expression is r = K[A]. If the initial concentration
of Ais C_, then remaining concentration (C,) of A
after t time will be -

M C,=C,e™ ) C,=C e

(3) C, = C,(1-e™) (4) C,=C (1-e7*")

Which of the following complex is an outer orbital
complex?

(1) [Ni(NH,)¢)** (2) [Mn(CN)¢]*

(3) [Co(NHy)eI™  (4) [Fe(CN)gl*™

Average oxidation number of Fe in Fe,[Fe(CN).],
is a. Oxidation number of central iron atom is 'b".
Oxidation number of counter iron atom s 'c'. a, b,
C respectively are :

(1) +%, +2,+3 (2 +g, +3,+2

(3) +g, +2,+3 (4) +g, +3,+2

There are four complex of Ni. Select the
complexles which will be attracted by magnetic
field :

[N(CN),J” [Ni(C1,]” [Ni(CO),]  [Ni(H,0)e]”
I IT 111 v

(1) lonly

(2) land IV only

3) 1l Il and IV

(4) 1, 1 and IV

CLASS-XII

37.

38

39.

CODE : 2512
afafpar 2A _, P& fow et r = K[A] & | 3R
A @ IR Aigal C, A1 t 9T ULATq Uy AiEd]
(Cy Bt —

() C,=C,e™ 2)C,=C e
()¢, =C,1-e™ ) 4)C =Cc-e*)
=1 ¥ W I Al dTed DD Hhd ©

() INi(NHy)el”"  (2) [Mn(CN)¢]*
(3) [Co(NH)I™™  (4) [Fe(CN)gI™
Fe,[Fe(CN)]; # Fe ol 3N SITaRATHRYT 3 a 2 |
B Fe TRATY] &1 FITHROT 3 'b' & | HISUER
3ITIR URHTY] T SATRITHRT 37 'c' B | a, b, ¢ FAM: ©

m +§,+2,+3 (2 +§,+3,+2

(3) +g, +2,+3 (4) +g, +3,+2
el & IR A AIRD © | T &3 §RT AT
&I dTel Aol AITeh] Bl T DI :

[Ni(CN)," INV(CD),]" [Ni(CO),]  [Ni(H,0))""
1 11 111 I\Y%

(1) daal

(2) ®aa |l e IV

@) I, 1Nl &2 IV

(4) 1, Il e v

Y% B @ [o77 O/ Space for Rough Work
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4.

42,

43,

The correct order of energies of d-orbital of metal
ion in a square planar complex is-

(1) d,, =, =d

) dxz—yz :df > dxy = dyz = dzx

,=d,, >d

3) d}vf—y2 >d22 > dxy = dyz = dzy

(4) dxz_yz > dxy > dz} > dzx = dyz

Which of the following transition metal ions has

highest magnetic moment -

(1) Cu** (2) Ni**

(3) Co** (4) Fe?

Which of the following is not correctly matched

with the given example ?

(1) Anelement of first transition series which has
highest second ionisation enthalpy - Cu

(2) An element of first transition series with
highest third ionisation enthalpy - Zn

(3) An element of first transition series with
lowest enthalpy of atomisation - Zn

(4) Last element of third transition series - Cd

Which pair of compounds show highest oxidation

state for respective metals :

(1) vo,, Cr,0,, Mn,0,

(2) V,0,, CrF,, MnF,

(3) V,0,, CrO,, MnO5F

(4) V,0,, CrO,, Mn,0,

CLASS-XII

4.

42,

43,

44,

aﬁﬂﬂﬁﬁﬂﬂﬁ‘c{?{ﬁﬂﬁalw fﬁd-cbaﬂcm Eﬁ‘l&;ml Eal
W€l P B
() d,, =d,

,=d,, >d 2—d

(2) dxz_yz =dzz > dxy =d._.=d

yz X

(@) dpey2>d>d, =d,=d,

(4) dxz—yz > dxy > df >d, = dyz

1 5 31 f5x1 Ahwr o1 M BT DI MM

S A

(1) cu* (2) Ni**

(3) Co** (4) Fe?*

=1 9§ W DI B ) T SeTeRvl @ fordy el 8

2

(1) v GehHv St § Uah acd foraas! fgaiae s+
Tl 31w B-Cu

(2) 92| GHHT A H Uh ded Fordan! Jeiiae I+
Folt AMferdHdd 2- Zn

(3) w2 HhHvT #roft # U dca FTaa tRHTVG RIaR0T
ol REATH © - ZNn

(4) FAIr FepeoT =il < @ifva ad - Cd

AIfep] BT DI FHE G Grgall & g sifdrea

ST RATHOT 3raver yefRia axdar e :

(1) VO,, Cr,0,, Mn,0,

(2) V,0., CrF,, MnF,

(3) V,0;, CrO,, MnO,F

(4) V,0,, Cro,, Mn,0,

Y% @14 @ fory ST/ Space for Rough Work
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47.

CLC
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Acidified potassium dichromate react with
potassium iodide and oxidises it to |,. What is the
oxidation state of chromium in the product of the
reaction ?

(1) +4 (2) +6
(3) +3 (4) +2
Best method to convert alcohol to halide is :

1) ROH + SOCl, _»y _, R-Cl+ SO, + HCl
2)R-OH+PCl;, ——R-Cl
3)R-OH +PCl; ——R-Cl
4)R-OH+HCl ——R-Cl+H,0

CH,
CI—I3—(|3—CH2—CH2—(IZI—I2 C,H;OH

— p— p— p—

Major product
CH, Cl
CH, CH,
(1) CH-C — CH-CH,-CH,
Cl)C.zH5
CH,
(2) CH,~C — CH-CH,~CH,
CH, OC,H,
CH,
(3) CH,-C — CH,-CH-CH,
CH, OC,H,
CH, CH,
(4) CH,~C = C - CH, - CH,

CLASS-XII

45,

46.

47.

CODE : 2512
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3Feild UICRIIH STShIHC USRI IMATSISS & A2
o e 2 e 39 |, H sifarfigrd e A @ | iR
& IcuTe H pIfFTH o SifaRiTaHvor sravern gl :

(1) +4 (2) +6
(3) +3 (4) +2
VehIRTe Dl eSS § URdfid & ®f Faiferd SUD
fafdr &
(1) ROH + SOCI, _#Y (R~ Cl+ SO, + HCI
()R- OH +PCl, — >R -Cl
(3)R-OH+PCl, — >R -Cl
(4)R - OH + HCl — >R - Cl + H,0
CH,
CH3—(||3—CH.2—CH.2—(|3H2 C,H;OH TR IAE 2—
CH, Cl

CH, CH,

(1) CH,~C — CH-CH,~CH,
(|30sz
CH,

) CH3—|C — CH-CH,~CH,
(|:H3 OC,H,
CH,

(3) CHS—E — CH,-CH-CH,
CH, OC,H,
CH, CH,

(4) CH,~C = C - CH, - CH,

Y% B @ [ory o178/ Space for Rough Work
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(&%, tecnd=
48. Correct order of SN? reaction among the following: | 48. fa=ferRaa s # SN2 aifafsan @ forg ‘\qé’f B
BT
(II) Il
CH,-C-CH, CH;O-CH, CH=CH-CH, CH,=CH CH,-C-CH, CH;O-CH, CH=CH-CH, CH,=CH
Cl Cl Cl Cl Cl Cl Cl Cl
D (1) (111) (IV) (1) (I1) (111) (1v)
M I>0U>W>1 2 1>0>1>1V @ 1>0H>m>1 @2 I1>1>1>1V
@G u=>r=>wv=a @u>m=>1>1v @) U>1=>wv=>1 @Nn>1m=>1>1v
49. |dentify correct order for ArSN reaction : 49. ArSN arfafhar & e w8 pa &
F Cl Br F Cl Br
NO, NO, NO, NO, NO, NO,
(i) (ii) (iii) (1) (i) (i)
) i > ii > i Q) i > iii > i () i > ii > il Q) i > iii > i
(3) i>iii > i (4) i > i >ii (3) i>iii > i (4) i >i>ii
50. The major product of the following reactionis: | 50. =1 aififshan &1 qeg Iare 2rm—
F F
Phs® NS Phs® N
di methyl di methyl
formamide formamide
NO, NO,
Me. »SPh Me, oSPh Me. »SPh
F F F
) (M )
NO, NO, NO,
Me, pBr Me, pSPh Me. #BT Me. »SPh
SPh SPh SPh SPh
(€) 4) 3) (4)
NO, NO, NO, NO,
"HHEET™ Pt. Harinath Chaturvedi Marg, Piprali Road, Sikar (Rajasthan) Ph: 01572-255500 17
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53,
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CLASS-XII

BIOLOGY (SECTION-C)

The mature female gametophyte is represented
by

(1) Ovule (2) Gynoecium

(3) Embryo sac (4) Embryo

Match the items in Column-I with those in Column-
Il select the correct option.

Column-I Column-II
i. Funicle A. Small opening of ovule
ii. Integuments  B. Stalk of ovule
iii. Hilum C. protective envelopes of
ovule
iv. Micropyle D. Junction part of ovule &
stalk
i ii iii iv
1) B C D A
) A C B D
3) B C A D
(4) B D C A
What will be the main function of filliform
appratus

(1) It brings out opening of the pollen tube

(2) It guides the entry of pollen tube in embryo
sac

(3) It helps in the entry of pollen tube into
antipodal cell

(4) It prevents entry of more than one pollen tube
into the embryo sac

51

52.

53,

CODE : 2512

Qe IR HIGT JHBIGHE fefid grdr &
NS B ERT (2) ST @ §RT
B)YCPIY B ERT  (4) YOI B &R
W -1 & gehl Bl W -|| A GATord B Fel fddhed
&1 TG HITY—

Column-I Column-II
i, dTs g A. dITUS &1 U BICT §R
ii. IR B. dISIUS &1 g
iii. ¥ C. dISIIUE BT YRETHD MR
iv. doUSgR D. SIS T g1 Bl FATT

i ii iili iv
(1) B C D A
@) A C B D
@) B C A D
(4) B D C A
TIoU SUGRVT BT 7 BRI T BRI —

(1) IRTT fTHT BT Wiel ST |

(2) TRTT AfTRT &1 YOI H U< DI faem Bl e
PRATE |

(3) W Aferet B UfaHE SIfTsT 7 ydw &= A
HETIAT IR 2 |

(4) Yurpy & HIaR Udb ¥ 31t IRTT Aferdnt & ydel
BIAGATE |
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54.

55,

56.

Match column | with column Il and select the
correct option from the given codes:

Column-1 Column-II

A. Parthenocarpy i. Seed formation without
fertilization

B. Polyembryony ii. Morethanoneembryoin
same seed

C. Apomixis iii. Seedless fruits without
fertilization

D. Somatic iv. Embryo develops from

embryogenesis a somatic cell

(1) A-iv, B=ii, C~iii, D-i

(2) A-iii, B-ii, C-i, D-iv

(3) A-i, B-iv, C-iii, D-ii

(4) A-ii, B=iii, C-i, D-iv

The change in population size at a given time

interval t, is represented by following equation
N, =Ny +[(B +1) - (D +E)]

I, B & D stand respectively for :

(1) Rate of immigration, natality & mortality

(2) Rate of migration, natality & mortality

(3) Mortality, natality & rate of emmigretion

(4) Rate of decomposition, Birth & Death

Study the population growth curves shown in the

below diagram

Population Density (N) —

Time (t) —>
Which options is the best for curve (i) and (iii) ?
Type of (i) curve Type of (iii) curve
(1) Logistic curve Logistic curve
(2) Exponential curve  Logistic curve
(3) Logistic curve Exponential curve
(4) Exponential curve Exponential curve

CLASS-XII

CLC
tecnd=

et Bxplering ELE Mosianal Bympiad- 2128

54, Qﬂmlaﬁﬁmllﬁgﬁ%ﬂaﬁ%ﬁﬁmﬁmﬁﬁ

55.

56.

|2l fdemey 1 g
-1 -1
A. ST BB MR CEIRELECEEIC AT
B. 984T ii. Q@ 9197 H U@ A 31t yor
C. SR iii. 3= A== & diorfRd
D. HIAS YUIGHT iV, T BIAD DITIDHT H YT B
faepra

(1) A-iv, B-ii, C-iii, D-i
(2) A=iii, B=ii, C=i, D=iv
(3) A-i, B-iv, Ciii, Dii
(4) A-ii, B-iii, C-i, D-iv
FAfe & MeR ¥ gRads Y T FHI=RTS t W)
e AR gIRT Ui fovan = 8
N =Ny +[(B+1)-(D+E)]
|, B AT D A B :
(1) SMUARIA @1 SR, T &R TAT 4o &
(2) USRI Y &R, ST &R dAT Heg &
(3) 9cg &R, OTH X AT IHATI Bl &
(4) 3UEEH B &R, O TAT I
a1 & T o o gty ) wefte g9fE ass & e
BT |

!

qHIfe o9 (N)

Ty (1) ——
o1 & e asb (i) Ta (iii) @ fore T 8 ?
b (i) &1 YR s (iii) d1 YD

(1) 9¥9R T3 THR T5h
(2) TRYTATD! I3 HHR Ih
(3) 9¥R T ERGIRICAGED
(4) TRETard! a9 ERCIRIEANCED
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Natality is the characteristic of population which
means
(1) The few number of individuals present per
unit area at a given time

(2) The increase in number of individuals in
population under given environmental
conditions in a given time period.

(3) loss of individuals due to death in a population
under given environmental conditions

(4) The movement of individuals into and out of
population

Ecosystem are not exempt from second law of

thermodynamic. According to this law which form

of food is responsible for entropy :

(1) transfer of biomass from one trophic level to
another trophic level

(2) loss of energy in from of heat during transfer
of energy

(3) loss of energy in respiration

(4) loss of energy in synthesis of biomass

Theratio1:1:1:1is expected as a result of

(1) Monohybrid cross

(2) Monohybrid back cross

(3) dihybrid cross

(4) dihybrid test cross

Consider following two results in Mendal's

experiments and select the correct match -

Result-I: Appearance of dwarf pea plants in F,

generation of monohybrid cross.

Result-Il: Appearance of pea plants with rounded

and green seeds in F, generation of dihybrid cross.

Codes:

A) Result | : Law of Dominance

B) Result | : Law of Segregation

C) Result Il : Law of Dominance

D) Result Il : Law of independent assortment

1)A&B (2)A&D

(
(
(
(
(
( (4)B&D

CLASS-XII

57.

58.

59.

60.
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ST X qHfRe @l ofefor g gt aref &

() FfR¥od a § fAfad goE a=wa § R oM
BISEAANIClCAREE)

(2) <1 718 araraxei uRRerfo qen Af¥ad w4
STERE] @ 377G Siid] Bl I H 9N

(3) < g araraxvig uRRf # S & arez
SiTal B Jeg g BT
(4) STEEIT § Sidl @1 3TeR 3R 9TER ST

UTRTS SHANTID! @ fgdire e | e 780 2 |

39 (9 & TR A1 &1 SIFd1 WU AT adhdT &

i%mwanﬁ%

(1) Sig AT BT TP YN0 WR H TH U0 'R H
RITHTIXT

(2) Sl WIMRY & SR ¥ & ©9 H Hofl DI
effer

(3) vaa ¥ ol @ erfa

(4) ST AT B HLIYVT § FHoll Bl effal

1:1:1: 1 31T ST SF Fehdll B—

(1) Monohybrid cross

(2) Monohybrid back cross

(3) dihybrid cross

(4) dihybrid test cross

HUSH & WART & AR & R a1 uRemf wR faar

HIFTY d21 Fel A &1 a9+ By —

URITH-1: T FehR0T T D1 F, 41T H 91+ Hex urei

bl YTT ST |

TROTTH-I: fg=TesRoT 9= &1 F, 4l 7 7iet 7d &x 41

3 AER UTEyl 1 YTl ST |

Hadd :

(A) TR | - wefaar @1 s

(B) uRoTmH | : gerahror o1 M

(C) afRor 11 - gerfaa &1 o

(D) uRRomH 11 : W=l 31uedg ol f-1aH

(1) A qer B (2) A G2 D

(3) B a1 C (4) B @21 D
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61. In a certain plant, red fruit (R) is doaminant over | 61.
yellow fruit (r) and tallness (T) is dominant over
dwarfness (t). If a plant with RRTt genotype is
crossed with a plant that is rrtt, what will be the
percentage of tall plants with red fruits in the prog-
eny?

(1) 100 % (2) 25 %
(3) 50 % (4) 75 %

62. Human skin colour is polygenic trait with each | 62
dominant determining a part of melanin
deposition while the recessive are coding for no
melanin. If a very dark skinned person marries a
very light skinned women, the chances of a very
dark skinned offspring.are
mo (2)1/4
(3) 5/8 (4) 9/64

63. Consider about the following conditions - 63.
A. Fusion of gametes
B. Formation of blastima
C. Production of clones
D. Genetic recombination
Which of these condition are generally found in
case of sexual reproduction ?

(1 Aand B (2 Band C
(3)Aand D (4)CandD
64. Match the component of column-A to that of | 64.

CODE : 2512

column-B and select the answer from given codes:

Column-A Column-B

(A) Menopause (i) Discharge of ovum from
ovary to body cavity

(ii) Temporary suspension
of menstruation

(B) Menarche
(C) Ovulation (iii) Occurs around the
age of 50 years
(iv) First menstruation which
marks the beginning of reproductive age.
(1) A-iii, B- iv, C- i, D- i
(2) A-iii, B-iv, C-ii, D- i
(3) A-iii, B-i, C- iv, D- i
(4) A-ii, B- iv, C-iii, D- i

(D) Amenorrhea

U UIey H Tdl el (R)tﬁﬁttﬁﬁ (r)q?u"ﬂrcﬁ%a‘m
THTIA (T) G4 (t) TR 94911 © | A o urey R
SIFICTSY RRTt & &1 WHRUT Uah UTy Tl SiHIersy
rrtt 2, & 121 HRATIT ST 8, 1 Heall H Tl B g

T UTSUT BT UfIerd T 81 —
(1) 100 % (2) 25 %
(3) 50 % (4) 75 %

A @l B T Y Ggoii-l [Ae¥a © | YD JHTd!
ey Freifee ot w1 RaiRa wvar € e s
ol @1 T8 quian 2 | af} va T8 drel @ @
I D1 MET o] ABE a1 Jad Sl 4 81 S
FAT H T Brefl car oY FHTIT 1 2Rt —

Mo (2)1/4

(3) 5/8 (4) 9/64
faafaReg Rerfol or faar #ifsig -

A DI B AT

B. =fiRear @1 fmior

C. A @ =i

D. Sl gAiare

399 W BT Ryt amm=ad: «iffie ST+ § SufRerd
RGN

(1) A q1 B (2) B @1 C

(3) AT D (4) CTAD

T -A B TCHI BT W™-B & gedi | fAer™ pifog

dert fa TR del | SR D1 AT HIT -

w-A *-B

(A) Toutfagh (i) JUSTHA ¥ (VS P ST &
H e Bl

(B) fo=map (i) g AT BT 3RATRN HY A
& ST

(C) srSreaTt (iii) 50 g9 B 3TY & JTH—UTH
T ST

(D) vf=Ran (iv) 9o ] WTd ST UST=+ Bict
B TR BT GAD ¢ |

(1) A- iii, B- iv, C- i, D- i
() A- iii, B~ iv, C- ii, D- i
(3) A- iii, B- i, C- iv, D- i
(4) A- i, B- iv, C-iii, D- i

"HHEET™ Pt. Harinath Chaturvedi Marg, Piprali Road, Sikar (Rajasthan) Ph: 01572-255500 (2 2
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68.
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Tabert Exploring ELE Hotioral Clympind-2085

Select the correct option describing gonadotro-

pin activity in a normal pregnant female :

(1) High level of FSH and LH stimulates the
thickening of endometrium.

(2) High level of FSH and LH facilitate implantation
of the embryo.

(3) High level of hCG stimulates the synthesis of
estrogen and progesterone.

(4) High level of hCG stimulates the thickening of
endometrium.

What is most likely to happen if the both ovaries

of a female are removed by surgery ?

(1) Increased level of estrogen in blood.

(2) Increased level of GnRH, FSH & LH in blood.

(3) Progressive decrease in hardness of bones.

(4) Both (2) and (3)

How many of the following statements with regard

to embryonic development in human are correct-

() In morula amount of cytoplasm and DNA is
equal to Zygote

(I1) Kl of blastomeres increases during cleavage

(lINThere is no division of cytoplasm during
cleavage

(IV) A three cell stage is found during cleavage

(M4 (21

(3)3 (4)2

What is the figure given below showing in

particular-

(1) Vasectomy (2) Ovarian cancer
(3) Cervical cancer (4) Tubectomy

CLASS-XII

65.

66.

67.

68.
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T =T I S H SIS & dal Afhad

@1 I B dTell fAded &1 aa+ difory :

(1) T% U4 T 31 Tel Ua & Sod &R §RT reMifead
D I Pl S

(2) T% T T 3R U U & 9% KR gRI YU &
SITRIYT Dl AL TP FAI

(3) T W1 ST BT ST WR YRgIo 3R UIoRe’ | &
HYIYUT Pl FEITH Bl &

(4) T3 A ST B o WR TSACIH & W @l
JEIU HRAT &

afe T AT B VSR BT ¥ b g1 gen e

SR A1 FrfaRad § | i1 Jaifde Gwrad g

(1) SR # RIS B 9E1 g AT

(2) HIER H GnRH, FSH 211 LH &1 91 g8 AT

(3) 3TRRRAT B TER Tl 8S BRI

(4) (2) T (3) <

A4 # Yuirg uRaed= & Fag 7 71 7 9 fha we

T8 —

(1) Hel1 § BIfRrenT g d1 DNA &1 /731 JFHTS &
[HE BT S

(1) faee™ & SRM HRGEUS] &I K| a1 2 |

() faged @ SR BIRTHT g &1 favTe &1 eI

(IV) fage™ & SR dF BT srawen grit ST
=

() 4 @)1

@) 3 4) 2

o T forr & fafdrsea: @ gt o 8 —

/’/’2‘A g_\

(1) YEpaTE® JWad  (2) TR e
(3) Fafgda AR (4) Aferdr Swe
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69. Which statement is /are correct for an ideal

70.

contraceptive -

(@) It should be user friendly

(b) It should be easily available

(c) It should be effective and with least side
effects

(d) It should interfere with sexual drive of user,
so that reproduction may be controlled

(M a (2)aandb

(3)a,bandc (4) All of these

Below some statements related to sexually

transmitted diseases (STD) are given -

(@) Incidences of STD are high in age group of
15-24 years.

(b) Symptoms of STD are restricted to
reproductive organs.

(¢) Pelvic inflammatory disease (PID) is not
possible in STD.

(d) STD is possible by blood transfusion.

Select the correct statement -

(Ma,c (2) b, c

3)a,d 4)cd

Contraceptive pills are taken daily for a period of

..A..days starting preferably within first ..(B).. days

of menstrual cycle. After agap of ..(C)..days (during

which menstruation occurs) it has to be repeated

in same pattern.

Fill in correct values for A, B and C

M 21,7,5 (2)7,5,21

(3)21,5,7 (4)7,21,5

Tobacco contains an alkaloid called

(1) Nicotine (2) Morphine

(3) Codeine (4) All of the above

CLASS-XII

69.

70.

72,

BT /B muﬂwmwﬁﬁﬁ%?ﬁﬁﬂé’f

%‘r_

(a) T SHBT ST | ST B bl &l

(b) T 3T W SUSL BT ARy

(€) B UHTdl BI A1fRY Ud §HD HH A HH GUHd
B9 =Y |

(d) TE TARThA! &1 BTHEST | 1eh 811 <MY dTfep

ST 1 R foean S 9 e |
(Ma (2 ad2am b
(3)a, bdaic (4) STRIET FH!

A § A GaRd I (STD) ¥ Fafdd werd &
T8 —
(a) STD @1 & 15-24 I &1 I H 31 Il B

(b) STD @& I&TvT BHadf Si=+ 3T T HIFAT BTl 2 |

(c) STD # #nfor erst R (PID) ©Hd &1 &
(d) AR e & §IRT STD |HA ©
TE HAT BT IIT BRI —

(Ma,c (2) b, c

(3)ad 4)cd

RIS MRt LA.. &9 T& fafe= o il 8, 3=
31T @b @ YA ..(B)... fa1 & & dreA1 @Ry | . (C)...
{1 & SR & a1 (379 FedwTd BIcl £) 39 fhr 1 a9
&) QISR STl & | A, B @2 C & forg el e ol
P —

m21,7,5 (2)7,5, 21
(3)21,5,7 (4)7,21,5
a1 H b Yo olT$S Tl ST 2:-
(1) = (2) "=

(3) dreH (4) SURIET T
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CLC CLASSXI] CODE : 2512
tecnd
73.  Measures which are useful for prevention and | 73. U™ Sl fBeIRI § Uepleldl 9 71 & ford |UAN Bl
control of alcohol and drugs abuse among RAHAM qT =01 7 fAYeHy | SRR 8F —
adolescents
a.  Avoid under peer pressure a 3Mavad FHGET a1 | g9
b. Education and counselling b. e 3iR wRmH
c. Seeking help from parents and peers c.  Har —fOdT s8Ik ARl | eIl ol
d. Looking for danger signs d. Hdhe P Hhdl Bl oG-l
e. Seeking professional and medical help e. ARG IR fafdhcar dAgmadr o=
(1) a,bandc (2 b,candd (1) a,bTrc (2) b, cqend
(3) b,c,dande (4)a,b,c,dand e (3) b,c,ddere (4)a, b, c,ddeare
74. Match the columns I and II. 74, IO | 9 waRT 1l | e Sifore—
Column-| Column-Il =T =T -l
a  Neoplasm 1. Hematopoietic cell a Taa 1. RAcmEds SIkm s
tumour
b. Benigntumour 2 Bone cartilage tissue b. A 3 a 2 37T IUTRLY FHdid HER
cancer
¢ Carcinomas 3. Malignanttumour c PR 3. oA sga
d. Sarcoma 4. Cancer of epithelial d. ATHiET 4. DA HdH BT DA
tissues
e. Lymphomas 5. Noncancerous tumour e. formrm 5. M HER YT
6. Initiation of new tumors 6. T 3T B AR
a b C d e a b C d e
M3 5 4 2 Mm3 5 4 2 1
2) 6 4 3 2 1 @6 4 3 2 1
33 5 4 1 2 @3 5 4 1 2
(4)2 5 4 3 6 4)2 5 4 3 6
75.  Fill in the blanks: 75. R i @1 gfd afg—

1. In(__a__), apiece of the suspected tissue cut
into thin sections is stained and examined
under microscope (__b__) by a pathologist.
Inradiography, (__c__) are used.

3. InCTscan,(__d__)are used.

(1) a - biopsy, b - histopathological studies,
¢ - Xrays, d - gamma rays

(2) b - biopsy, a - histopathological studies,

d - Xrays, ¢ - gamma rays

(3) a - biopsy, b - histopathological studies,
¢ - Xray d - Xrays,

(4) b - biopsy, a - histopathological studies,

c - Xrays, d - gamma rays

1 (L_a__), ¥ M 3@ W ua 81 & SHST THel
CThR Tl T EIal 3 ISR JNTARIST e FeHa e
@ i I =Tl gRT (__b__) Sirer Siren &

2 fafexorfREord (__c__) Suamd a8

3 WMAWAH (__d__) STIFTH o &

(1) a - Sgfuier, b - s fdoia sieaa,
¢ - X fvoi, d — 7 faeo

(2) b -sigfausien, a - S fagpi e,
d - X &=, ¢ - 711 fohon

(3) a - SgfuRier, b - Hadd fApfa sreaws,
¢ - X faroi d - X faol,

4) b - SN, a - SHds f[APpfa sead=,
¢ - X favi, d - 7 fonwoy
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76.

78.

79.

80.

CLASS-XII

MATHS (SECTION-D)

Find the domain and Range of the function

fx)="""P,_,
M {123} @) {1}
(3) {23} (4){2,3}

4 k
Suppose, f (x, n) = Z'ng {;}, then the value of
k=1

x satisfying the equation f(x, 10) = f(x, 1), is
Mms (2)10
(3)M (4)9
X _ X
Let f(x) = and f(g(x)) = x then
el002 _ 4
g %T is equal to
(1) 501 (2) 203
(3) 504 (4) 505
The number of solutions of the equation sin™
1+ %2 T
% =5 (sec (x = 1)) is/are :
(Mo (21
(3) 2 (4)3
Domain of the function
; - .1 +x?
y = cos(smx] +5sin 1[ o J is.
3) [, 1] (4) (=1.1]

76.

78.

79.

80.

B f(x) =7~ P, _, BT UTT g URER ST BIToTY |
(1) 501 (2) 203
(3) 504 (4) 505

A (%, N) Zlogx[ } q9 X BT =, S FHIHR0T
f (x, 10) = f (x, 11), BT AT HAT & —

M9 (2) 10
G) M (4) 9
) = &= o f(g(x)) = X T

e1002 _ 4
9[ 5501 JGNMH RIS
(1) 501 (2) 203
(3) 504 (4) 505

1+x* | g _

THERI sin” | "oy = (sec (x - 1)) & &l B
e gl
(1) 0 )1
()2 (4)3

. (142
Bord ¥ = COS(S'“X)+5|”1[ x Ja?rm-d NI

M {11
G -1

2 (1. -
(4) (=1.1

Y% B @ 119 S8 / Space for Rough Work
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81

82

83.

cLC
tecnd=

Tabert Exploring ELE Hotioral Clympind-2085

(1) tan™'(2") (2) tan™'(2") - g

(3) tan™'(2"™") (4) tan™'2™") - n

sin'1[5i”(21}(i :jD <7 - 3,then xsatisfies : 82,
(1) [xI>1 (2) |x|<1

@ K< @ X|>1

CLASS-XII

If x, y and z are positive numbers such thaty and | 83.

z have respectively 1 and 0 at their unit's place

4
) . 0
and A is the determinant
1

N < X

divisible by 10. Then x has at its unit's place :

(2)0
(4)3

(M1
(3) 2

:
T 0 A+ s
0

CODE : 2512

17 November, 2024

(1) tan™'2" (2) tan™'(2") - E

(3) tan”'(2") (4) tan™'2"") -

T
4

T+ X

.. 2 4
sin'“[s'n[ X +2 Dmr 3, X el 8-

() Ix>1 (2) Ix|<1

CIES (@) x>

afe x, y 91 z IHTcHS AR 39 UHR 8 fb y den z
D SIS AT & 37h HHI: 1TAT 0 2 | T2 A ARMOTH
X 4 1

y ‘1’ ;%luﬁAﬂaﬂnﬁmﬁﬁmﬁsﬁ%a‘rxzﬁ
Z

SDTS XA BT3P 2 -
M1 (20
O (4)3

Y% 13 @ [y 5171 / Space for Rough Work
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ecnd
324K 4% 3% 434K 324K 4% 32 434K
2 2 2 2 2 2
ga, [t TKOS A A G then find the value | 84, afy [T TR ST A HARK_,
52 +K 6% 5% +5+K 524K 6° 57 +5+K
of \/2" V22K qd \/2*‘ V2K2K.....o0 T T ST X1 —
(M 1 (2) 2 (1 1 (2) 2
)4 (4)3 ()4 (4)3
85. Let x be the solution set of the equation A =1, | 85. HIFl x WHIHIU A* = |, &1 8 AH=dY T, SIel
0 1 -1 0 1 -1
4 -3 4 4 -3 4 .
where A = and | is the A= qeM | GG @IS Higad © | aen
3 -3 4 3 -3 4

corresponding unit matrix and xeN then find the N Z(cos" 0 + sin® 9)’ 0 eR @ e

minimum value of Z(cosX 0+sin*0), 0 eR

(12 21 m2 (2)1
()3 (4) 4 (3)3 (4) 4
sin3x + Asin2x +Bsinx sin3x + Asin2x +Bsinx
86. Letf(x)= 5 X #0 atx=0f(x) | 86. A f(x) = 5 X#EO x=0Ww
is continous, Then: f(x) S &, Td —
(1) f(0) = A+B (2) f(0) = A-B (1) f(0) = A+B (2) f(0) = A-B
B)A=4,B=5 (4) A=5,B=-4 (3)A=4,B=5 (4)A=5B=-4

Y% B @ 119 S8 / Space for Rough Work
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87.

88,

CLC
tecnd=

Itzog(e’<2 +2\/;)
Let f(x): tan\/;

continuous at x = 0 then f(0) =
(12

X0 f(x)

3
. 1—cos™ X
2) lim——m

x—0 XSINX COS X

. 2xtanx —xtan2x
(3) lim >
>0 (1-cos2x)

1
(1+x)* —e+ &
4) |im 2
x—0 ex2

4 —x?

The function is.

4x — x>

1) Discontinuous at only one point

2) Discontinuous exactly at two points
3) Discontinuous exactly at three points
4) Continuous everwhere

— p— — p—

CLASS-XII

is

87.

88.

CODE : 2512
Itzog(e’<2 +2\/;)
7 f(x) = x#0; f(x), X = 0 TR
tanvx

Had g, 79 f(0) =
m2

. 1-cos>x
(2) lim

x—0 X SINX COS X

2xtanx —xtan2x
@3) m ;
x>0 (1-cos2x)

(1+ X)X —e+%

4 lim
Xx—0 ex2

4 —x?

4x —x3 §
(1) R Tap favg oR 3re
(2) R 31 fa=gaii UR 3rFaq
(3) R 9 fa=gail UR 3rAaq
(4) Fd= Fad

Lk

Y% &1 @ o1y 5118/ Space for Rough Work
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89.

90.

In which of following point f(x) = {G—X} COS{?,—X}
T T

T
in [gﬂ] is continuous. (Where [.] denotes

greatest integer function)

I T
(1) s (2) 3
T

(3) By

If

(4)

f(x) = lim x[%+[cosx](\./n2 +1-n? —3n+1)]

Where [.] denotes greatest integer function. Then
identify the incorrect statement(s).:

(1) )I(er% f(x)=0

) 3n
@ M=

2
@3) () =37XVX = {o,g]

(4) f(x) =0Vx e(g 3;]

CLASS-XII

90.

CLC
\tecnd=

Tatert Bxplering ELE Mosicnal Blympiod-2025

3
f(x) = }COS[ x] JAq ¢ | (STEl [] A quiid
B Bl et HRare :

T

M =

T
6 @3

i
3) Y
afe

(4) m

f(x) = lim x(%+[cosx](\/n2 +1-n? —3n+1)J

N—»o0

STEt [] AeTH Yol ot 8, a9 T # |

= S
DA/ DI Tedd T

) )l(l_r:g)f(x) =0

@) M 0=

Y &1 @ o1y T8/ Space for Rough Work
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o

92,

93.

CLC
tecnds

The sum of the local maximum and local minimum

_ tan3x
values of the function f(X)=—
tan® x

3

(1) Odd (2) Irrational

(3) Rational (4) Divisible by 25

If the function f(x) = x* - 9x* + 24x + c has three
real and distinct roots o, B and v, then the value
of [a] + [B] + [v]is, where [] denotes the greatest
integer function.
(15,6

(3)7,8

on interval

(26,7
(4) 10,5

2

Let consider f(x)= ,Vxe€(0,1) and

2—-2C0SX

2

g(x) = ,Vx €(0,1) then which of the

6Xx —6sinx
following option is correct:

(1) Both f (x) and g (x) is increasing

(2) Both f (x) and g (x) is decreasing

(3) f (x)isincreasing and g (x) is decreasing
(4) f(x) is decreasing and g(x) is increasing

CLASS-XII

9.

92.

93.

CODE : 2512
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IRTA (012} H B

f(X) _ tan3x

B WM Sfes 3k W fafas

tan’ x
AT BT AT
(1) faws (2) 3Ry
(3) ul (4) 25 | W5
HHT et f(x) = x° - 9x* + 24x + ¢, I fafd=1 arafas
el o, B TATy & E 9 [a] + [B] + [y] FIAFE|

STET [[] AE<H YUl Herd I Sl o—

(15,6
(3)7,8

(2)6,7
(4) 10,5

2

X
AT f(X) = —,
()=

Vx e (0,1) g
—2C0SsX

2

a(x )—7 Vx e (0,1) a9 e & ¥ B
6X — 65l

P Tl B

(1) f(x) T g(x) QI aLHE ®

(2) f(x) T2 g(x) T ERFAT &
(3) f(x) TETH T2 g(X) ETTHH &
(4) f(x) BT g(x) T @

Y% &1 @ o1y 5118/ Space for Rough Work

30 "HHEASAT™ Pt. Harinath Chaturvedi Marg, Piprali Road, Sikar (Rajasthan) Ph: 01572-255500



CODE : 2512

17 November, 2024

94.

95,

96.

97.

If f(x)=2e*-ae™ +(2a+1) x - 3 is monotonically
increasing v x € R, then find the range of values
of'a':

(1) [0, =) (2) (- =, 0)
(3) No possible @ [,1
Letli=i+),V=i—)and W=i+2]+3K.If is

a unit vector such thatu-n=0 and v-n=0, then

|wW-Al is equal to

(M1
(3)3

(2)2
(4)0

Let a=2i+j-2kand p = i+] if vector ¢ is

such that a.c =|¢|, [¢-3] =2,/ and angle
between (a x b) and c is the 30° then

| (3 x b) x ¢| is equal to -

(1)
(3)

Let there be two points A and B on the curve

2 3
= 2) =
3 @) 2
2 (4)3
y = X in the plane OXY satisfying OAj=1 and

OBi=-2 then the length of the vector

201—358 is
(1) V14 (2) 251
(3) 3vm @) 2Jm

CLASS-XII

94. AR F(x) =2¢" - ae

95.

96.

97.

CLC
tecnd=

e +(2a+‘l)x—3 , ¥ XeR®D
for) Uafese agd & T4 'a' @ HH1 BT TR 819 :

(1) [0, =)
(3) T &I

AT U=i+j,v=

(2) (- =, 0)

(4) [-1,1]

~jodem w=i+2]+3k | afe
fi 3H1S Afeer & Wel u-h=0 TATV-A=0 dd
|W-A| SRTER BT

M1 (2)2
()3 (4) 0

i+, afe afew ¢
FUPREfB a.C =|¢l lc-3l=2; T (axb)

T A = 2i+) -2k T p =

AR cH AT PIU30°2, @@ |(@xb) x| =

2 3
™M 3 2) >
(3)2 (4)3

TAOXY Hamy =x" R fag ATNBRAME,
- A — A — —>
OA.j=1 T2 OB.i=-2 d9 {fd¥ 20A-30B @I
TS BI—

M V14 (2) 251
3) 334 4) 2Jm

Y &1 @ o1y T8/ Space for Rough Work
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99.

100.

cLC
ecndas

Tabert Exploring ELE Hotioral Clympind-2085

X-2 y-3 z-
3 4

4 is parallel to the plane -

1) 2x+3y+4z=29

2)3x + 4y -5z2=10

3)3x + 4y + 5z = 38

Hx+y+z=0

The plane ax + by + cz =1 meets the co-ordinate
axesin A, B and C. The centroid of the triangle is-

abc
(1) (33, 3b, 3¢) (2) {515'5J

335} (LLL
B ab'c ) 3a'3b 3¢

Let L be the line of intersection of planes
2x + 3y +z=1and x + 3y + 2z = 2. If this line makes
angle a with positive direction of x-axis, then cos
a is equal to -

M1/43

(3)1

— p— p— —

(2)1/2
@ 1/42

CLASS-XII

98.

99.

100.
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el

X;2=y;3=z;4gqﬁﬁﬁmaﬁzﬁww

2=

(1) 2x +3y+4z=29

(2)3x+4y-5z2=10

(3)3x+ 4y + 5z =38

4)x+y+z=0

THAA ax + by + cz =1 <3 37efi BT A, B 921 C R
e 8, 1 BS &1 S 81T -

abc
(1) (33, 3b, 3¢) (2) [E’E’EJ

333 T 1 1
@) [;'B'E] @ (5’%’%}
Ife L A9l 2x + 3y +z=1qAMx + 3y +22=27
ufree s fawg 9 S aTell e ¥l & | e I8 ¥l
X-axis P g-THD M B AT o DIV g1 € AT cos
o HTHAEE —

Mm1/3 2)1/2
@)1 4 1/2

Y% B @ [ory o178/ Space for Rough Work
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